臺北巿立教育大學

102學年度學士班二、三年級轉學生招生考試試題
系    別：資訊科學系（二年級）
科    目：計算機概論
考試時間：90分鐘【8:20-9:50】
總    分：100分
· 注意：不必抄題，作答時請將試題題號及答案依照順序寫在答卷上；限用藍色或黑色筆作答，使用其他顏色或鉛筆作答者，所考科目以零分計算。（於本試題紙上作答者，不予計分。）
1、 選擇題（每題2分，共60分）

1. 不同的進制轉換：(62)8=(122)x，則基底x為何？

(A) 3
(B) 4
(C) 5
(D) 6

2. 請問一張解析度為600x800的灰階影像(每一畫素的色深以256灰階 (8bit)儲存)約需要多少記憶容量？
(註：B代表位元組 “Byte”)
(A) 330KB
(B) 450KB
(C) 280KB
(D) 480KB
3. 中央處理單元有不同的定址模式(addressing mode)，這些定址模式主要的功能是
(A)指令的提取
(B)指令的解碼
(C)指令的執行
(D)運算元的提取

4. Ethernet使用的是哪種媒介存取控制方式？

(A)CSMA/CA
(B)CSMA/CD
(C)Control Token
(D)Slotted Ring

5. 下列關於RFID的敘述何者錯誤？

(A)RFID就是平常看見的條碼
(B)捷運悠遊卡屬於RFID的應用

(C)RFID的傳輸媒介為無線電波
(D)RFID具有防磁、耐高溫的特點

6. 下列何者屬於DBMS軟體？

(A)Excel
(B)Lotus
(C)Photoshop
(D)Oracle

7. 下列何者不是伺服端的Scripts？

(A)CGI
(B)JavaScript 
(C)ASP
(D) PHP

8. 在系統開發的生命週期中，哪個階段的工作重點是完成新系統的邏輯設計？

(A)系統設計
(B)系統分析
(C)系統研究
(D)系統開發
9. What name is given to the common microcomputer architecture that uses a single block of memory to store both programs and data?
(A)ALU
(B)von Neumann architecture
(C) CU
(D) ABC

10. Which logic gate can be implemented by the following circuit?
(A)AND
(B)OR
(C)XOR
(D)None of above
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11. ________ is a set of instructions in a computer language that tells the computer what to do with data
(A)An algorithm
(B)A program
(C)A data processor
(D)A computer language

12. How many symbols can be represented by a bit pattern with 10 bits?
(A)128
(B)256
(C)512
(D)1024
13. For an 16-bit allocation, the smallest decimal number that can be represented in two's complement form is
(A)-127
(B)-128
(C)-32767
(D) -32768
14. In the ___ graphic method of representing an image in a computer, each pixel is assigned a bit pattern.
(A)vector
(B)bitmap
(C)quantized
(D)binary
15. The program counter
(A)stores the address of the instruction that is currently being executed
(B)stores the next instruction to be executed
(C)stores the instruction that is being currently executed
(D)stores the address of the next instruction to be executed.
16. Cache memory
(A)has greater capacity than RAM
(B)is faster to access than CPU registers
(C)is a permanent storage
(D)is faster to access than DRAM

17. ________ supervises the activity of each component in a computer system.

(A)A queue
(B)An application program
(C)An operating system
(D)Hardware

18. Refer to the exhibit. Host A wants to access the Internet. Which Layer 2 address will enable this access from host A?
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(A)Destination MAC: 0030.8596.DE82
(B)Destination MAC: 0030.8517.44C3
(C)Destination MAC: 0030.8517.44C4
(D)Destination MAC: 0030.8596.DE83

19. According to the Unknown algorithm given the list 2　4　6　5　9　10　8　7　1　3, What the algorithm returns?
Algorithm: Unknown(list)

Pre: Given: the set of positive integers

{

target←∞

counter←1

while (counter ≦5)

{
current←next integer

if (current<target)  target←current

counter←current+1

}

Return target

}
(A)10
(B)5
(C)2
(D)1
20. __________ is multiprogramming with swapping.
(A)Paging
(B)Queueing
(C)Demand paging
(D)Partitioning

21. The ______ layer of the TCP/IP protocol suite provides services for end users.

(A)data-link
(B)application
(C)network
(D)transport

22. A process in the running state goes to the waiting state when _________.

(A)it requests I/O

(B) it gets access to the CPU
(C)it finishes running
(D)it enters memory

23. A list contains the following elements:

57  8  26  44  13  23  7  98.

The value of the elements in the list  after 2 passes of some sort  is

7  8  26  44  13  23  57  98,

Which sorting algorithm is applied?
(A)selection sort
(B)bubble sort
(C)insertion sort
(D)none of above
24. According to the following recursive definition, F(5)=?
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(A)3
(B)5
(C)8
(D)13
25. _________ is a protocol for accessing and transferring documents on the WWW.

(A)HTTP
(B)SMTP
(C)TELNET
(D)FTP

26. Which of the following is not a valid IP address?

(A)140.113.1.254
(B)163.21.278.22
(C)12.23.34.45
(D)1.1.1.1 

27. _______ is a process in which an algorithm calls itself.
(A)Searching
(B)Iteration
(C)Recursion
(D)Insertion

28. ________ can occur if a process has too many resource restrictions.
(A)Synchronization
(B)Deadlock
(C)Starvation

(D)Paging

29. _____ is an English-language-like representation of algorithm.
(A)A UML diagram
(B)Pseudo-code
(C)A program

(D)None of the above

30. Which device should be used for routing a packet to a remote network?
2、 (A)DHCP server
(B)switch
(C)router
(D)DNS server

3、 填充題（每格2分，共20分） 
1. ____________語言是不須經過轉譯，電腦唯一能讀懂的程式語言。

2. 目前普遍使用之網際網路的IP位址是以IPv4的規範，其IP位址共須佔___________Byte。
3. 某計算機之主記憶體共有32M Byte，並且是以Byte為定址單位，則位址匯流排至少須要____________條線，才能完全定址。

4. 電腦以硬碟機模擬主記憶體功能，讓使用者能運用較大的記憶體空間此方法稱為____________。
5. 以2的補數表示一負數。若一數其十進制為(-24)10，以5位元表示，則其2的補數表示式為____________。

6. 某計算機系統，其指令的執行分成提取(Fetch)、解碼(decode)、執行(execute)與存回， 四個階段所需的時間分為為8ns、6ns、5ns、7ns，若以傳統的作法執行100個指令所需的時間為____________。若以管線(pipeline)技術執行此100個指令所需的時間為____________。

7. 在網路通訊系統協定，OSI七層參考模型。負責內碼轉換、加密/解密、壓縮/解壓縮等工作的是 ____________層。而負責定義資料傳輸的實體規格，包含連線方式、傳輸媒介、訊號轉換等是___________層。
8. 開發程式的過程包含：(1)連結/載入 (2)偵錯 (3)編譯 (4)編輯，則開發程式的先後次序依序為_____________。
4、 問答題(共20分)

（1） 請利用程式語言 “C語言”定義一整數一維陣列A=[5 20 12 8 6]，設計一程式求取此陣列中的最大值。（7分）
（2） 請利用程式語言 “Java”之巢狀迴圈敘述，設計一程式印出如下之乘法表。（7分）
----------------------------------
2*1=2
2*2=4
2*3=6
3*1=3
3*2=6
3*3=9
4*1=4
4*2=8
4*3=12
---------------------------------
（3） If a 8-bit allocation contains the data 11001100. Find the correct answer from each of the following shift operations:
(1) Logical shift left（2分）
(2) Circular shift left（2分）
(3) Arithmetic shift right（2分）
不得使用計算機或任何儀具。
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